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2. ERE&RME

1) REW&HS H = 3.0 m
2) XM T EE~HE
a. fEMERR Py = 2.0 m
b. A& A7 I h; = 1.35m
ETFHRGEA N — N SR SR £ T o BRRE
h, = 0.15m
c. AT L, = 2.33m
HEX A7 EREER LY ERIRE A7 ET o M
h, = 070m
2 A7 LB ER I F BRI 7 LT R
a = 0656m
Pz A7 EEEEELY T BARg AETORERE
hy; = 2.00 m
d. ERE AT HIMR b = 1.20 m
RAIES hs = 1.00 m
3) EA#
1R BRV VR H—F7Fhk
2N CGCC
w®E 1.2 mm
EIRL) W = 50 cm
TTLES 7z = 1.89 cm®
FRMT S E AR ED-H1.3(FT5
fb = 13365 N/cm*X1.3= 17375 N/cm®
XEpHE
E & d = 4.86 cm
W & 2.4 mm
M B STK500
WA A = 3.48 cm®
Wr R 3K Z = 383cm®
W i 29Kk 2R i = 1.64 cm
AT - BRI S E EFEDH1.3E T2
fb = 23430 N/cm’X1.3= 30459 N/cm®
EAES R
Mt 7 ERFEDH1.35T 5
=R A 4900 N/f# X 1.3= 6370 N/{&
BEIFT 3430 N/l X 1.3= 4459 N/{&
4) Ht AR
B DRI S B
N = 200 kN/m* = 20.0 N/cm®
3m—-2
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3. EME
AT EORFHITEMEER TESREMTEICR T2 RBOREFIMES I

RENLHAERETRA L,

1) 3 %)ﬂﬂﬁ
=V,+Ke-S-Eg

S REREE TRICERETS
V, : M EEESZICR AR A

Vo @ EHEEGE 18.0 m/s
16~20m/sDHH —fRrY 72 HIZ-£% F

Ke : HAEBFEHEHAEEK 1.00
FUPN - 1A BR< — AR B 722 Hh 7

S : Hi EEXZITHIT DB EGE SR 1.50
1 EAHDOEE0~5m, B - FE

Eg : THESBERIEMICIIEHEHRE 1.00

LB BB (BE50mil k) S EVIEES D, BENTWAIES
AU FFRMEE ANERE A REEZ R DD

V= 27.0 m/s
2) =’“=+FEI;EJ#F
= 5/8V,”
dz : ﬂﬂJ:Fé’:‘é(Zm) kkﬁé‘ =t BT
Vz + i ERSZICRIT DA RS (1A FAE)

ita:ﬁ%)\h?&%rﬂ%ii@‘ ZRDHD
;= 455.6 N/m®

3) B IR EK
C= (0.11+0.945C, *R) + F
C . RBIRE
R : iR (M EDEDBE) 0.58
o EARBESRE(RER=1) 2.00
F : REMEBICLOHERE M ES) 1.00
_J:nﬂﬁ‘%r]\hﬂjﬂfﬁ#t%*?sbé
Cc= 1.21
4) BAFTE
P=q;*-C
P : RJEH
K2 - 3EFHEBEANRMEERDD
P= 5496 N/m’ . 0.055 N/cm®
3m-3
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4. {REVROBE

B EIHVOME
w= P-W= 0.055 N/cm® X 50 cm= 2.75 N/cm
fiFE—A b 2
weL? 2.7479 N/cm X 135 cm
M= = = 6260 N+<cm
8 8
i [y VYAl
M 6260 N-cm
co="" = " = 3312N/em® < 17375 N/cm®
Z 1.89 cm®

5. R A7 ORE
FEORF 2P B TR S

B REHI-VOME
w= P-W= 0.055 N/cm® X 135 cm= 7.42 N/cm
g E—Ak 2
weL? 7.42 N/cm X 200 cm
M= = = 37096 N-cm
8 8
i AN
M 37096 N-cm
o="""" = T = 9686 N/em® < 30459 N/cm”
z 3.83 cm®
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6. HEORE

1) mE
FEIRG AT IO E
P,=P-Pw(h,;/2+h,)
= 0.055 N/cm” ¥ 200 cm X ( 135 cm+2+ 15 cm) = 907 N
R E R/ SA T LD E
P,=P-Pw-h,
= 0.055 N/cm” X 200 cm X 135 cm = 1484 N
2) LB FHE OBt
ghiF ' —A b
M=P;*h,= 907 NX 70 cm= 63476 N*cm
1Bl
M 63476 N<cm
o="——" = —— = 16573 N/em® < 30459 N/cm”
Z 3.83 cm®
3) IO
ghiF ' —A b
Pyrath; 1484 NX 65 cm X 135 cm
M="—"——"""= = 65104 N cm
L 65 cm+ 135 cm
i Nl
M 65104 N-cm
o=""" = —— = 16998 N/cm® < 30459 N/cm®
z 3.83 om®
3m-5
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7. ¥EZ AT ORRE

1) EEEESICMOLME
2'h1'P1+h1'P2

Py= =
h;
2X 135 cm X 907 N + 135 cm X 1484 N
200 cm
oS 2226 N
2) X AT\ T
Ps 2226 N
Q= = = 4326 N
cos 0 0.51
3) B OREET
A& b
Lk 233.2 cm
A= = = 142
i 1.640 cm
MR PR AL

A=p/ =’E/0. 6F= 97.6
F= 35500 N/cm®

Lo T
L > A DI=HIRKEFERAL ., FFREIRIG 12 RDD
0.29 0.29 X 35500 N/cm’
fk= ——— F = = 4849 N/cm’
(L/A)? (1422 + 97.60 )2
JEREIS I EZRD , F B EIRIS S E HE$5
Q 4326 N/cm2
cc=""" = " = 1243N/em’ < 4849 N/cm’
A 3.48 cm?
4) ¥EZ AT KR OB R OMRE
Q= 4326 N < 4459 N/fE=BHEZ T 7Tt
3m—6
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8. EBEMOmRE

BRI B ENE
No= Pstanf = 2226 N X
ERTNb 538
To= - Ng=  -3710N
FTHIAB B SAT DRE
h : BEEASTORANES
N : HBROHFELIE
N= 200 kN/m” =
d : BEAMTHE 48.6 mm
1) X#FAH
1 N r -d?
Qy=—— (m+d*h — +40-N- )
1.5 5 4
1
= — X( 3.14X 4,86 cm X
1.5
3.14 X
+ 40 X 20.0 N/cm® X
4
= 13958 N
2) BlikiEH S
1 N
QT: —_— .n.d.h- PR
1.5 5
1
= — X 3.14X 4.86 cm X
1.5
= 4069 N
3m-7
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1.67 = 3710 N
1.00 m
20.0 N/cm®
20.0 N/cm®
100 cm X
5
2
4.86 cm
)
> Np= 3710 N
20.0 N/cm®
100 cm X
5
> To= 3710 N
— -



